o

&. 4B GROUP

BETTER BY DESIGN




70°C
SBR
4B
SBR EP-SBR
2+2mm
Page 4
120°C
NBR+K
4B
EP- FRAS
ISO 340/284
-ATEX
Page 6
100°C
FDA-NBR
4B
EPG NBR-FDA
Page 10
BC CLAMP
Page 14

100°C
NBR
4B
NBR EP-NBR
Page 5
80°C
FRASOR
4B
EP- FRAS
ISO 340/284
-ATEX
Page 7
80°C
FDA-FRASOR
4B
EPK FRASOR-FDA
-ATEX
Page 11
SUPERGRIP
Page 15

4B SBR NBR

T150
4B

EP-T150

STEEL WEB
4B

GRIPWELL

150°C

Page 8

130°C

Page 12

Page 16

120°C
HOT OIL
4B
PPHO120

ISO 340
-ATEX

Pages 9
VICE SPLICE

Page 17

NBR

NBR+K
FRASOR
T150

HOT OIL

FDA NBR
FDA FRASOR

STEEL WEB

4B -

k‘ﬂ.

x

-20°C

-25°C

-25°C

-25°C

-20°C

-20°C

-20°C

-20°C

-20°C

+70°C

+100°C

+120°C

+80°C

+150°C

+120°C

+100°C

+80°C

+130°C



SBR -

SBR
70°C
4B
EP ( )
( )
1.5%
> 70°C >
0.3mm SBR
> SBR
-EP1000-EP2000 kN/m
> BS 490, DIN 22102
DIN 22104
63 > 20c-+70c ()
-
EP500/3 EP630/4 EP630/4 EP800/5
1+1 SBR 1+1 SBR 2+2 SBR 2+2 SBR
kN/m 160 160 160 160
- 3 4 4 5
kN/m 500 630 630 800
(10 ) kN/m 50 63 63 80
mm 1.0 1.0 2.0 2.0
mm 6.0 7.0 9.0 10.5
kg/m? 7.8 9.0 11.4 13.3
(%) mm 315 500 500 630

NBR - ‘ﬂb

NBR Nitrile
100°C
4B
EP ( )
( )
1.5%
> 100°C >
0.3mm SBR

> 100%
> 100%

> BS 490, DIN 22102

d DIN 22104
j > -25°C to +100°C () > ASTM3 /

IRM 903 Reference Oils

EP500/3 EP630/4 EP800/4 EP1000/5 EP1250/5 EP1600/5
‘ 1+1 NBR ‘ 1.5+1.5 NBR ‘ 2+2 NBR ‘ 2+2 NBR ‘ 2+2 NBR ‘ 2+2 NBR
kN/m 160 160 200 200 250 315
- 3 4 4 5 5 5
kN/m 500 630 800 1000 1250 1600
(10 ) kN/m 50 63 80 100 125 160
mm 1.0 1.5 2.0 2.0 2.0 2.0
mm 6.0 8.0 9.5 11.0 12.5 13.5
kg/m? 7.6 10.2 12.0 13.9 15.6 17.5
(] mm 315 500 500 800 800 1000

NBR : 70hrs @ 100°C

ASTM #1 = 1RM 901 +/- 10% AV
ASTM #3 = 1RM 903 +20% AV (max)




(B
NBR+K - 1SO 340/284 FRASOR - ISO 340/284 "'

ATEX
ATEX
> > > >
0.3mm SBR 0.3mm SBR
> > ISO 340/

> 100% NER > 1SO 340/ EN20340 (DIN 20340)

EN20340 (DIN 20340) , SO B4/EN20284

> ISO 84/EN20284 (DIN 20284)

(DIN 20284) : : , 55490

> -25°c~+120°C ) > BS490 > -25°C ~+80°C () DIN 22102 DIN 22104

DIN 22102 DIN 22104 dj

EP1000 EP1250 EP1600
- 3 3 3 4 4 5 - 2 3 3 3 4 4 5 5
kN/m 400 500 630 800 1000 1250 kN/m 315 400 500 630 800 1000 1250 1600
(10 ) kN/m 40 50 63 80 100 125 (a0 ) kN/m 32 40 50 63 80 100 125 160
mm 3+1 3+1 3+1 3+1.5 3+1.5 3+1.5 mm 3+1 3+1 3+1 3+1 3+1.5 3+1.5 3+1.5 3+1.5
mm 7.0 7.5 8.0 10.0 11.0 12.5 mm 6.2 7.0 7.5 8.0 10.0 11.0 12.5 14.0
kg/m? 10.5 10.6 11.6 13.8 14.9 17.4 kg/m? 6.5 9.1 9.9 10.4 13.0 141 16.6 18.5

%) mm 315 315 400 500 630 800 (0] mm 250 315 315 400 500 630 800 1000



T150 -

EPDM800/4 3+3 NBR T150

150°C

3+3

180°C

> DIN 22102

> E= DIN 22104

>T= 150° C

EPDM

> Y=
DIN 53516

2.5%
-20°C ~ +150°C @

| (gmy) | g (mm)

12.0 500

HOT OIL -

I;
/ ISO 340/284 -+

U

PP800/4 2+2 NBR T120

ATEX
120° C
> : DIN 22102 > K= DIN 22103K
- 1SO 340/EN 20340
ETGX
> E= DIN 22104 > L 50250
> T= 120°C DTTED
> -20°c - +120°c)
> G=
> X=
(mm) (kg/m?) 2 (mm)
9.0 9.8 500



‘DB
FDA-NBR - NBR  (EPG) FDA-FRASOR - (EPK) -

NBR > FDA
> 1SO340
> ATEX
> FDA > 150284
> (100%) >
> >
>
> FDA CFR
21-177-2600 > 1SO340
DIN 22102 EGA >
> E= DIN 22104
S G > FDACFR  21-177-2600
B DIN 22102 EGA
> A= > E= DIN 22104
> -20°c - +100°c () s G
4 T
FoA A > avc-waoc @)
EP400 EP500 EP630 EP800 EP1000 EP1000
; 3 3 3 4 4 - 3 3 3 4 4
kN/m 400 500 630 800 1000 kN/m 400 500 630 800 1000
(10 ) kN/m 40 50 63 80 100 (10 ) kN/m 40 50 63 80 100
mm 1.5+15 1.5+1.5 1.5+15 242 242 mm 1.5+15 1.5+15 1.5+1.5 242 242
mm 6.0 6.3 6.9 9.4 10.6 mm 6.0 6.3 6.9 9.4 10.6
kg/m? 8.2 8.4 8.7 11.9 12,5 kg/m? 8.3 8.5 8.8 12.0 12.6

(0] mm 315 315 400 500 630 (%] mm 315 315 400 500 630




The 4B Steel Web

> 2,500 kN/m
> 3+3 4+4
> 0.5%
4B > 130°C
4B DIN >
22102 ISO >
-20°C ~ +130°C (] )

12.0

SW 800 3+3 500 18.0
SW 1000 3+3 12.0 500 18.7
SW 1250 3+3 13.0 630 21.0 Braime Clamp
SW 1400 4+4 15.0 630 24.5 BC
SW 1600 4+4 15.0 630 25.0
SW 1800 4+4 15.0 630 25.5
SW 2000 4+4 15.0 800 26.0
SW 2500* 5+5 18.0 800 32.5
5 1- 100°C
> 2= 130°C 150°C
> ER ISO 340

4B
www.god4b.com

BC
p.14




14

Braime Clamp (BC)

BC
BC
4B Braime
BC1~BC2 EP BC1~BC4
BC2 BC3 BC4
Braime Clamp — BC2 Braime Clamp - BC3
Braime Clamp — BC1*
200mm
X H— mm _m T45mm 7145,“,“
0 = A

_

BC4
1,400 kN/m 1,600 kN/m 2000 kN/m 2,500 kN/m
31.6 Kgs/m 56.5 Kgs/m 71 Kgs/m 96 Kgs/m
Bolt M16 Bolt M16 Bolt M16 Bolt M16

BC

/
/

‘DB
SUPERGRIP -

Supergrip

> 50mm
> 4 1250 kN/m

> 80°C
80°C Philidas

150 195mm
3 Supergrip

25mm

_ Supergrip No.1 Supergrip No.2 Supergrip No.3 Supergrip No.4

500 kN/m 630 kN/m 800 kN/m 1,000/1,250 kN/m
( ) 0.5 Kgs/m 0.8 Kgs/m 0.85 Kgs/m 1.83 Kgs/m
Bolt M14 Bolt M14 Bolt M14 Bolt M16

15


ZBW
箭头

ZBW
箭头

ZBW
箭头

ZBW
箭头


16

GRIPWELL

Gripwell

> 500 kN/m 7.0mm
>

> 150mm 300mm 2

65 57 2 8.0 33
75 70 2 8.0 43
90 83 3 8.0 2x28
100 96 3 8.0 2.33
115 109 3 8.0 2x42
125 122 4 8.0 3x32
140 134 4 8.0 3x36
150 147 4 8.0 3x40
165 160 5 8.0 4x33
175 172 5) 8.0 4x36
200 198 6 8.0 5x34
225 223 6 8.0 5x40
250 248 7 8.0 6x37
275 273 7 8.0 6x41
300 299 8 8.0 7x39

‘DB
VISE SPLICE -

4B Vise Splices

PVC

> 1000 ~ 1400 kN/m
> PVC

> ( )

> 50mm

1400 kN/m 1000 kN/m
1.33 kgs 1.18 kgs
260° C 315° C

17



18

4B

4B

(TPH)

4B

www.go4b.com

HDP/

/PU/

ATEX/IECEX/CSA/EAC

EURO
EASIFIT
REF 70
FANG

PTC NTC

C40

C57-C62

4B
www.go4db.com




4B

\

4B Braime
Components

Headquarters
Hunslet Road
Leeds, LS10 1JZ, UK

Tel: +44 (0) 113 246 1800
Email: 4b-uk@go4b.com

4B Africa

14 Newport Business Park
Mica Drive

Kya Sand

2163 Johannesburg

South Africa

Tel: +27 (0) 11 708 6114
Email: 4b-africa@go4b.com

&

1 )

4B Components

625 Erie Avenue
Morton
IL 61550, USA

Tel: 309-698-5611

4B Asia Pacific

Build No.899/1 Moo 20
Soi Chongsiri
Bangplee-Tam Ru Road
Tanbon Bangpleeyai
Amphur Bangplee
Samutprakarn 10540
Thailand

Tel: +66 (0) 2173-4339
Email: 4b-asiapacific@go4b.com

@ 4B China 4B

5A

Tel: +86-519-88556006
Email: 4b-china@go4b.com

4B Australia

Building 1, 41 Bellrick Street
Acacia Ridge,

4110, Queensland

Australia

Tel: +61 (0) 7 3216 9365
Email: 4b-australia@go4b.com

i

www.go4b.com

RBETTER BY DESIGN

‘ ' 4B France

9 Route de Corbie
80800 Lamotte Warfusée, France

Tel: +33 (0) 322 42 32 26
Email: 4b-france@go4b.com

‘ 4B Deutschland

9 Route de Corbie
F-80800 Lamotte Warfusée, France

Tel: +49 (0) 2333 601 681
Email: 4b-deutschland@go4b.com

Our policy is one of continuous improvement;
therefore we reserve the right to amend
specification without prior notice. All information
contained herein is provided in good faith and
no warranty is given or implied. E&OE.



